Best model for HELP J142912.652+350139.077 at z = 0.617 x2=1.62
OPTx?=1.88 IRy?=1.19 threshold (OPT IR)=12.94 [um]

102 3 : Stellar attenuated
i e e Stellar unattenuated
] th —— Dust emission
1 —— AGN emission
10" 3
E 1] = Model spectrum
] ® Model fluxes
M oObserved fluxes
100
— E
>
-
_1 _
E 10
X
= 1 .
[T . ""g"!‘-.'"‘""h-.\-ﬁrr'«r""('[ i

bk

=]

—

© —}= (Obs-Mod)/Obs

3 1 7 i

3 \ \/

§ 0_____ 1 | N I gl B 7

s |

= |

E_l LA | T LR | T T T UL | T UL | T T mE
S:’ 100 101 102 103 104 A

Observed wavelength [um]



